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1. ROFHEZ LRI W,

m(=2)+ (=7) =




0-8-p29(test081202).tex 7-2

2. RO HEAE ST,
(1) 42 = 8 (2)r+6=4

(3)y+4=10 (4) 2y = —16

(5) 4 = —x + 10 (6) Tx = 6x —6
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3. RO HERE MMEAI,
(1) 20 —3(2—2) =4

(2) T + 9 =3(x — 1)
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4. RO A2 S 2T,

—2r+3y=4
(1)

2z + 5y = 12

3r 4+ 2y = 18
(2)

r+2y=14
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5. RO HERXNZE MELIW,
(1)

1+2(x—4)=3

1+2x—-8=3
(I-14+2x—8+8=3—-1+38)
2r =3—1+438

22 =10

T =09

il =1+42(5-4)
=1+2x1
=142

4B3x+4)+1= -7
120 +16+1 = -7

(120 +16—16+1—1=—7—16—1)
122 =-7—16—1

120 = =24

20 —3(2—x) =4
20 -6+ 3z =4
(22 —6+6+3x=4+6)
204+ 3x=4+6
br = 10

r =2

Fidll =2x2—3(2—2)
=4-3x0
=4-0
=4



0-8-p29(test081202).tex 7-6

(4)

Tt +9=3(z—-1)
r+9=3r—-3
(Tr+9—-9—-3r=3r—-3r—3-9)
v—3r=-3-9
dr = —12

r=-3

Fedld =T7x(=3)+9
= 2149
= —12

fAid=3((-3)—1)
=3 x (—4)
= 12



